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Answer any five questions
All questions carry equal marks

L. The distance between JINTUHCEH and Balanagar is 2.5 Km. On inspection of
road map, its equivalent distance measures 5 ¢cm. Draw a Diagonal scale to read
50 meters minimum. Show on it a distance of 6350 metres.
OR
2. Construct a hyperbola, with the distance between the focus and the directrix as
50 mm and eccentricity as 3/2. Also, draw normal and tangent to the curve at a
point 30 mm from the directrix.

3. The top view of a line PQ makes an angle of 30" with the horizontal and has a
~ length of 100 mm. The end @'is in-the H.P and P is in the VP and 65 mm above
HP. Draw the projections ¢f the line and find its true length and true inclinations
with the reference plane¥ Als’o show its traces.
. f/‘v . -;"f OR
4. Draw the projections @f a circle. of 50 mm diameter resting in the H.P. on a point
A on the circumference:. Its plane is ‘inclined at 45 degrees to the H.P. and the
diameter AB m,akmﬁﬁ() degreee angle with the V.P.

5. Draw the pI‘O}E‘,C;tIOIlS oj; a cone of base circle diameter 40 mm, axis length 60 mm
resting on the HP.on a genérator W1th a plane containing that generator s 40°
inclined to VE._ I A VR
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6. A hexagonal pr1sm of Base of side 40 mm and axis length 80 mm rests on one of
its base edges on the" HP. The end containing that edge is inclined at 30° to the HP
and the axis is parallel to VP. It is cut by a plane perpendicular to the VP and
parallel to the HP. The cutting plane bisects the axis. Draw its front and the
sectional top views.

7. A square prism, side of base 40 mm and height 60 mm, is resting on HP on its
base with one of the edges of the base perpendicular to VP. It is cut by a section
plane perpendicular to VP and inclined to HP at 45° and passing through a point
15 mm from the top end of the axis. Draw the complete development of the
complete portion of the prism between section plane and the botton of prism.

OR

3. A vertical cylinder of 50 mm diameter and 75 mm long is penetrated by a
horizontal cylinder of 40 mm diameter and 75 mm long such that their axes bisect
each other at right angles. Draw the intersection curve.




9.

10.

Draw the isometric projection of the following combination solids: Sphere of

diameter 50 mm resting centrally on the top of a Cube of side 60 mm. Also show

the isometric scale.

OR
Draw the front view, top view and side view of the isometric view shown in the
figure below (follow first angle projection method). All dimensions are in mm.
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